Psyc941 Quiz #4  Hw#12:   Meta-Analysis
Computing effect sizes – round to 2 decimals!
1. There were no means or standard deviations, but the sample sizes were 75 and 85, with a t = 3.7.

a. Compute d 
b. Convert d to r 
c. Compute r directly

2. The p-value for the t-test was .02 & the sample sizes were each 40.

a. Compute d .
b. Convert d to r 
3. The Tx condition (n = 40) had a mean 12.5 and std 4.3, while the Cx condition (n=51) had a mean 9.5 and std 3.6. 

a. Compute d  
b. Convert d to r 
4. For a between groups design, the Cx condition has a mean of 18.5 and the Tx condition has a mean of 22.8, F=5.6, MSe = 25.36.

a. Compute r 
5. I’m not sure why they used a dichotomous version of the DV, but the X2 with N=80 was 4.85.

a. Compute d 
b. Convert d to r 
c. Compute r directly ?) 
6. The Tx condition (n=65) had a mean of 13.2, while the Cx condition (n=38) had a mean of 11.1, with F=6.2.

a. Compute d directly from F & ns (how comparable are these 2 ways of computing d?) 
b. Convert d to r 
c. Compute r directly from F & ns 
7. The study did not report the means (just that the Treatment condition mean was larger), but for Tx n=35 and for Cx n=32, F = 9.4.

a. Compute d 
b. Convert d to r 
c. Compute r directly 
Performing Basic Meta-Analysis Calculations
8. Use Excel to perform a basic meta analysis – using the r-values (use directly-computed values when available).

Please note: You may or may not have recognized yet that you have a problem caused by #4!

                                  You can get the ES (r), but you don’t have a sample size.

                                  In this situation, you have 3 choices:

1. Don’t use the ES in the meta analyses

2. Use the ES, but don’t use inverse variance weighting

3. Find a way to estimate the sample size (often there’s something in the Method)

         For the calculations below – delete #4 from the analyses…

a. Compute the weighted mean effect size 
b. Perform the Z-test of the weighted mean effect size.  What is the conclusion from this Z-test? 
c. Compute the 95% CI for the weighted mean effect size 

d. Convert the weighted mean effect size to r   
e. Convert the boundaries of the 95% CI to rs.  What is the conclusion from this CI?  
